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PART -1/ ¥4I - |
CHILD DEVELOPMENT AND PEDAGOGY / 911 fa&r 9 Riamem=

Direction : Answer the following questions (Q. Nos 1 to 30) by selecting the correct/most appropriate options.
[e9r : fefaiaa go (9. T8 1 G 30) & FK 57 & 1o7¢ Wel/ Gad 39ga [aaheyq gia/

1.

Which of the following would not be characterised as formative assessment ?
(1) An assessment used to identify misconceptions in a student’s learning.

(2) An assessment given at the beginning of a new concept to determine students” prior
knowledge.

3

E4; An assessment task that is helpful in comparing students as per a standard set of criteria.
frefafead 5 9 ol AT Jodishd @l JH=1 ST ?

(1) TH SThaA T S & H@H | Terd IR ol 969 i o fa Fan fohan S 2 |

(2) BEI % & IH HI FHIRG A 6 AU T 78 STaEROT i YesTd | e 7o 37eher |

(3) BTE AR el 1 s yfqyfe YoM w % T e % SR fe=n e Heie |

(4) T YEAIHRA HH i AHEE o Teh AHE GAM o STTHR BTE i qol i H HgFe o ¢ |

An assessment given during the class to provide ongoing feedback to students and teachers.

As per Howard Gardner’s theory of multiple intelligence, which of the following set represents
correct match of intelligence and associated characteristics ?

(1) Spatial : skill of appreciating the natural world

(2) Intrapersonal : skill in understanding and relating to others
(3) Logical-Mathematical : skill of dance or athletic abilities

(4) Musical : performance or composition skills

TEE MET & Fg(5 95 o ER, FAfafad § § & @ 9 gfg 3R 3Heh Gafya faeransi & ¥l
Ha1 w1 wfaffue e § 2

(1) ek : UThfdeh STATERel shi TR A o HIved

(2) Slqoafae : THI P THTH IR Ik WY Y T HH h Hiew

(3)  difdheh-TIforci : Jo A1 hiel-Heiell eraTd

4)

According to attribution theory of motivation which of the following is more likely to result in
persistent effort and improved performance ?

(1) External attribution for failure as well as success
(2) An internal attribution for success and an external attribution for failure

HMTHT : Y[ A1 T H F hivd

(3) An external attribution for success and an internal attribution for failure
(4) Internal attribution for failure as well as success

STATIRON & ARV gl & FATaR Fefafed § 9 fhad TR ST iR o5 JeeH ot Hued § 2
(1) STHEAA SR THherdl IHl o T Sl SR

(2) Uherd & fau STiale TR0 iR STowerar & fore sl SR

(3) TRardl % AT STed SRV SR % & forg sriafie ST

(4) STHEA TR THAN QM o fAC STafew SR

-1 IRINERE AR 2 L



4.  After getting ‘out’ in the game due to the rope getting stuck in her leg while jumping Aru says that
the rope deliberately got her out. At what stage of Jean Piaget’s theory of cognitive development
do children reason like this ?

(1) Pre-operation stage (2) Concrete Operational stage

(3) Formal Operational stage (4) Sensory-motor stage

T Fed T IR H W A RO S8’ B o 91 3TE hed! ¢ foh SH W A e e1se faRan
€1 S Tt o Srenes foshre fgr= ot fohe stereen # o= 59 e o T <d € 2

(1) Ye-=re ST (2) o EishATCHe Sfere
(3) A= HishaTeHe STere (4) HAS Trcteh STeE
5. In the course of development, children achieve gross motor skills before fine motor skills. This
indicates that development is :
(1) Proximodistal (2) Anarchic (3) Cephalocaudal (4) Linear
o & U H, I=1 aT T NI § TS Hehel U v fashiad wd €1 g <vian § R foe
(1) wHu-guigE  (2) oW (3) it 4) @
6.  Problem solving is fostered by :
(1) Response Set (2) Divergent thinking
(3) Functional fixedness (4) Passive imitation
frefafaa & § HF T FRH THE UM 5 FET 3l € 2
(1) wfafsean 9 (2) 3TTER fea
(3) hricHe et 4) Tfha sga

7.  Assertion (A) : Childhood is experienced differently by children across cultures.
Reason (R) : Childrens” development is universal.
Choose the correct option :
(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

AR (A) : T GRI TEUA ST 3Tl GEhfaa § STeRT-STel @ ¥ 19 fohan S 71
T (R) : = o1 T e €1

& fashey 9 -

1) (A) 3R (R) I 7Terd ¥ |

2) (A) 3R (R) I &l T IR (A) = (R) TEI AR T € |

(3) (A) 3R (R) I =&t § AR (A) FT (R) T AR & B

4) (A) W& T R (R) o g |

-1 RN T AR 3 L



8.  Language development in primary classes is facilitated :
(I)  When teachers begin from signs and symbols rather than concrete objects.
(2) When teachers use concrete examples to refer to abstract concepts.
(3) When teachers stress upon and enforce the use of formal language.
(4) When teachers ignore and dismiss the mother tongue of the children.

wieifteR enetl § o i foehT foRe YRR HHfYa B © 2

(1) < forerss Hd axgeii & oo Hohdl SR Ufashl 9 & & |
(2) <a forerh o sTauRmSt 1 Hefid #A % fau S SR 1 ST H ¥ |
(3) el Torerer siio=nfier wTon 3 7R W SR < ¥ R W o] A )
(4)

4) e T¥1ereh Sr=Al ol HIGHTST i STeeetT SR SU Hid & |

9.  Which of the following is a key principle of progressive education ?
(1) Curriculum should be predetermined and universal
(2) Standardized testing is the best way to measure student learning
(38) Students should be passive recipients of knowledge from their teachers
(4) Learning should be based on authentic tasks

frefafed # @ =@ o yfasie e &1 1w wga fagia 82

(1) =t gd fauifa iR wrddifie 2t =nfew |

(2) BE % GG S A % AU aHwRd TIET Sl 31T diw § |
(3) B @l o794 frerhi ¥ I 1 Fftha rehRdl g <1fed |

(4) e ymEfore R R s g e

10. Assertion (A) : School curriculum should give reasonable space and value to learner’s cultural
knowledges.

Reason (R) : Supporting students to uphold their cultural identities facilitates learning.
Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

afrerer (A) :  foererh uresRT 1 fornfil % Wik I i Sfaa T R g 3 =feu |

®RUT(R) :  foenfofi o1 3Tt Aipfae 989 &1 991C @A o fau a9eq 9eM &3, diEq &
HfhaT 1 G ST |

et fashed 4 ¢

(1) (A) 3R (R) ST 7Terd ¥ |

2) (A) 3R (R) I Tl T 3R (A) T (R) T AT H ¢ |

(3)  (A) 3R (R) IH Tl T ARFT (A) FT (R) TE AT & HLl 7 |
(4) (A) ¥& T AT (R) Tod B

-1 IRINERE AR 4 L



11.

12.

13.

14.

P-I

Which of the following correctly describes intrinsic motivation ?
(1) Motivation that comes from a fear of punishment

(2) Motivation that comes from external rewards

(3) Motivation that comes from personal enjoyment of the task
(4) Motivation that comes from competition with others

fr=fafea § 9 9 Aialte Afawon = 92t auie S 2?2
(1) SIS S F W G oAt §

(2)  SAfIRON St AR TR 9 ST §
(3) AU St T F AfFITG-3THE F A 7
(4)  STRTHRON ST g & Ty wiaeaut | o ©

Which of the following statements is not correct about learning ?
(1) Learning as a product rather than a process

(2) Learning depends on learner’s previous knowledge

(3) Learning implies reorganisation of prior conceptual schemes
(4) Learning is facilitated by social action

Frefafed § @ =0 @1 woa Ifomm & o § 96 9@ §?
(1)  Iferm T wferan & siftg Tk 3E ©

2) eferrg foreneff o g 9w fAelt wear €
(3) e o A qd S Rt % e | ¥
(4) ferrg TS foman gRT wafua B ®

Proximodistal principle states that in infancy :

(1) Physical development occurs rapidly with the development of fine motor skills.

(2) the limbs continue to grow faster than the hands and feet.
(3) development proceeds from head to toe.

(4) development of language occurs rapidly as it is a sensitive period for development.

eitaee fogia e ¢ fop Asramaeen 4

(1) e Tifes Hrere & fohm & ary IR faewm Tt | 2 7
(2) ST - wedl IR WY BT gor H IS ¥ g W ¥

3) foemE fX & dd 9 e g

(4) oo 1 TR ATt @ 2 § Hif o7 T % fore dagmsia eafy ¥

Which of the following is a characteristic of effective feedback in the classroom ?
(1) Itis timely and specific. (2) Itis given only at the end of the task.
(3) Itis broad and generic. (4) Itis only focused on the outcomes.

frafafeaa & @ Syarh gfagfic =t e fagma wE-df €2
(1) =% "t iR fafere gt §1 (2) ¥E Had wE F T H & I T
(3) UE AU IR A Bt T | (4) I Haet gRomE R Hfead It T

LR 3



15.  Which of the following is a typical characteristic of Dyslexia ?

(1) Difficulty in spatial awareness

(2) Difficulty in creative problem solving

(3) Difficulty in phonological processing

(4) Difficulty in physical coordination

frafafed & 9 937 dohcd i U fafyre favdr sa-dt 82
(1) w1 |Hel/ SR | Sicr

(2) TEAICHS G GHIUH § Hics

(3) EIATHE JHERU H o

(4) TRIRE o= | *feTE

16. According to Kohlberg’s theory of moral development, at what stage are children self-centered
and see their own benefit in doing something ?
(1) at the fifth stage in the third level
(2) at the first stage in the first level

(3) at the second stage in the first level

(4) at the third stage in the second level

Figatant & e fasm fagia & STER ffd TR W o= THHi=d 2 ¢ IR fhe wref &l &3 | 79T
& Y T © 2

(1) TR &R F grEd w10 o
(2) UEA WR % Yo WO H
(3) B WR o TE WA H

(4) TH &R & TR =/ H
17. Which of the following are examples of scaffolding ?

(a) Think-aloud (b) Prompts and cues () Questions
(d) Half-solved example (e) Rote Rehearsal

(1) (@), (b), (), (d), (e) (2)  (a), (b)

) @ 0) () 4) (@) (®) () (d)

7 § 9§ 2 W e % 38R § 2

(a) o H G (b) Hehd AR WX ) U

(d) T B fohel QT QAW (e) Wl QR

(1) (@), (b), (c), (d), (e) (2) (@) ()

®) (@ ®)(© ) (@) (®) () (d)

18. Socio-constructivist views of learning advocate that -
(1) Effective learning takes place through the process of recall and rehearsal
(2) Learners receive knowledge passively from others
(8) Learners actively construct knowledge
(4) Effective learning is activated by lecturing and explaining

e & TSR -HEAETE! fa=R $9 a1d i JeRlerd i § T :
(1) YR 3R <eE &t fea ufshan | gt fereror €t €
(2) Toenef gEdi @ fafera w9 9 99 W< A €

() Toenef wfera w9 9 30 1 fmior wa §

(4) =IREAM A 3R THe & g freror g dar @

-1 IRINERE AR 6 L



19.

20.

21.

P-I

Which of the following aptly defines relationship between cognition and emotion ?
(1) Emotions influence cognition but reverse is not true.

(2) Cognition and emotion are two independent systems.

(3) Emotion and cognition are interdependent on each other.

(4) Cognition influences emotions but reverse is not true.
frefafad & 9 -9 e Gar iR qeell & e % oo al ST &9 § G i § 2
(1) oA WM 1 Jfad el € aAfeh 3aehT faudd 9 T €1

(2) HIM AR AT, I T gonfert ¥ |

(3) WA 3R TIH TH H TH-T W IRERE §9 § fR w1 T

(4) W wrestl B genfad war § A s fauda a7

Assertion (A) : In Lawrence Kohlberg’s moral development theory children move from
understanding consequences of acts to determine whether they are good or bad
to understanding that rules and laws are flexible and can be changed.

Reason (R) : Lawrence Kohlberg argues that moral development occurs progressively in stages.

Choose the correct option :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

AMURYT (A) :  TRY HIGASHT h Hieh oo™ THGId T =4 1l ol 3Teh TROTH & STHR W TSST AT I
T 9, 39 U W UgEd § TR e iR s T § SR st 5 wehd §

HTT (R) : Y wigerant o1 deh ¢ foh Jfass foma wirw 9 3 =2 F & 7

el fasked T‘:ﬁ :

1) (A) 3R (R) I T E

2) (A) 3R (R) IH T ¥ 31X (R), (A) F1 T AT HA B |

(3)  (A) 3R (R) SHI T § AfHA (R), (A) HI T&l AR Tel T |

4) (A) ¥4 T dferd (R) 7o B

As per Jean Piaget’s theory of cognitive development, which of the following ability distinguishes
concrete operational thinking from Pre-operational thinking ?

(I) Object permanence (2) Coordination of senses

(3) Decentering (4) Hypothetical reasoning

S ferst o e faer & fagia & oT9uR, fefafed § § wR-9 ama qd-Sfares 9= @
o -GfshaTce We ¥ 3Te HI © 2

(1) =g Tt ) Efedi = gHeE
() faskhsm (4) ORerfeqa dcheRar
LR OTRIR T 7 L



22.

23.

24.

25.

26.

P-I

Which of the following statements about inclusive education is not correct ?

(1) An inclusive classroom centres around “fixed curricula and standard assessment”.

(2) Inclusive teaching means “teaching in ways that do not exclude”.

(8) Inclusive teaching means “adopting pedagogies that support needs of all learners”.

(4) An inclusive classroom “accommodates differences in language styles and promotes
collaboration”.

frefafed § @ M o1 we gamEet foen & an & 92 1@ 7 2

1) ‘Ffved areeeEt SR A Yol % ST g Ush HHTEN el 1 he Bil 7 |

(2) TR foegor 1 o1ef 0T TRt 9 freror S afespa T w7

(3)  GEmE foreror vt @1ef ¥ ¢S TRnememeA SR STUAT S |t fnenfeiad it srervashdret v THe wRar g
(4) T GEET Her ‘o St § TR R GHEIS Hdl § SR Tedn i e ot 87 |

Reasoning, thinking and problem-solving are explained in which aspect of development ?

(1) Motor Development (2)  Social Development
(3) Cognitive Development (4) Moral Development
T o fohd Tee) o o, T SR 9w Ao it AR S Sl € 2
(1) Tifaer ferehre (2) HHISeR foRm

(3) HAFTH fashE (4) fae foewe

Which of the following types of questions can help assess a student’s ability to evaluate information
critically ?

(1) Questions that ask for a summary of a text

(2) Questions that ask for a simple definition of a term

(3) Questions that ask for the student’s personal opinion

(4) Questions that ask for examples that validate the text

=1 H 9 fohE TR & U9 Tk B hl STHHRT I TR €I § JeAIhT i Sl AFdl FH 3AThed HH H
HSS Ll © 7
(1) 3 9% S foREt I8 1 |RIS AT €
(2) A U S I i T qRAT F faw ged €
(3) ° ¥ S BT Ht AfKATG T B §
(4) o T S IS T A HEA T ISk T g §
While divergent thinking convergent thinking
(1) Promotes verbal abilities; promotes mathematical abilities
encourages multiple answers; is fixed on one correct solution

(2)
(3) is fixed on one correct solution; encourages multiple answers
(4) Promotes mathematical abilities; promotes verbal abilities

R feidA Seffer AR feia |

(1) e st =i sere <dl 8; e eare Sl g <l €
(2) E T HI UcHIed T ©; Toh Fal FHIEE W R §

(3) TUH HEl HHHM W fEeR §; 3 AU I UieHIied HLdl ©

(4) IO QTS <Rl SEre <l §; HifEeh eais i sgre <l §

Lev Vygotsky proposes that is important for self-regulation in children.
(1) Organization (2) Disequilibrium (3) Inner speech (4) Adaptation
9 IRIRT YETfed hid @ foh =l § - % fag aeeget €

(1) wmeA (2) ITHH (3) =it = (4) STIReH

R Rn 8 L



27.

28.

29.

30.

P-I

Inclusion of students belonging to disadvantaged groups demands :
(1) same-ability grouping of students in the classroom.

(2) awareness and sensitization towards diverse traditions.

(3) evidencing and encouraging identity-based stereotypes.

(4) isolation in the classroom on the basis of social affiliation.

Sfad ot | Heiferd fernfofi o wwreE & fag

(1) 99 gHAsT & TR W faenfE s gl + fawtsa s =ifeu |
2) fafay wequsii & 9fd SrERdl iR HogTeierd i Sl <A1 =fed |
(3) UBEM-3THIRG &fedl sl FHI SR Wredifed foram ST =nfew |

(4) HHIRSR Hergdl o SR T hell H STRTE HE1 =T |

While participating in a sports competition in class, Tanuyj tells his friend that he will participate in
the javelin throw and his sister can participate in jump rope because she is a girl and girls cannot
throw javelin. This depicts :

(1) Gender stereotyping (2) Gender constancy

(38) Gender equality (4) Gender equity

el H W faifiar H foed o) 99 a9 o797 S | whedl § T 9% el e § fewmn o oiR T
Fo H IEH! qe Tl & Whdl § Hi(h o8 Th ASH! § SR ASHA A T Heh WHd1 | T

o YRR e ©

(1) it Sfgafed (2) SieX Heyar

(3) SIS HAM (4) S EHEd

Impairment is a condition, while disability is a condition.

(1)  social, psychological (2) Dbiological, functional

(38) functional, biological (4) operative, physical

A T fearfd &, STaIfer svamar T fearfd 71

(1) GRS, AHETS (2) Sifoeh, wETES

(3) wHATHE, Sfa (4) TorarmeR, TR

Assertion (A) : Learners construct their own knowledge based on what they already know.
Reason (R) : Finding patterns and making linkages with previous knowledge helps learners to

process information meaningfully.
Choose the correct option :
(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.
R (A) :  Toreneff St wedt ¥ ST € 3TF SNYR W A I 1 Ff0T A ¥
HTT (R): o < oI fusel I &% WY e aW ¥ faanfedl w SRt w ardd w9

Iy e § Aee fiordt B

Fﬁﬁaﬁfqﬂﬁ

1) (A) 3R (R) I T T

2) (A) 3R (R) I T € IR (A) T (R) T N FAT 2 |

(3) (A) 3R (R) I =&t § AfeRT (A) T (R) Tl = & o S|
4) (A) ¥& T R (R) T g

LR 9 L




PART - Il / 9T - I
MATHEMATICS / 1ford

Direction : Answer the following questions by selecting the correct/most appropriate options.

AT : fAmfoaiaa goa & 3T &7 & fo7d Wt/ 9ad 39ga Ay gia |

31. The value of 25.3X5-35+5—-3x185 is :
(1) —265 (2) 283.05 (3) 64.0 (4) 95.0
253x5-35+5-3x18.5 & AF T :
(1) —265 (2) 283.05 (3) 64.0 (4) 95.0

32. A frog jumps 3 steps and a rabbit jumps 7 steps at a time starting from a place O. At which of the
following steps, they both will be jumping together ?

(1) 354 (2) 343 (3) 371 (4) 378

fordt TIM O ¥ ARY Tk Teh Hgeh 3 FeH 3R T WU 7 FHeH i Feliv oid & | =1 § § forg ey
T 9 S Tk 19 DA A ?

(1) 354 2) 343 (3) 371 (4) 378

33. Which of the following statements is correct ?
(1
(2
3
4
frfafad wel § | HH-91 FoF @& 82
(1) 17T A9 T IR 7 & 9T 7

) 1 is neither prime nor a composite number
) 1is a prime number
) 1is a composite number

1 is both, a prime and a composite number

(2) 1, TH AT FE&A T
() 1, % 959 G&T ¥ |

4) 13 T, T 94 iR 1 Hen |

SPACE FOR ROUGH WORK / 7% & @ fag sig

-1 IRINERE AR 10 L



34.

35.

National Education Policy (NEP) - 2020 talks about “Knowledge of India”. Which of the following
are not included in it ?

(1)
()
)

(4)

Formal examination to assess the knowledge gained by the students.
Knowledge from ancient India and its contributions to modern India.

Tribal knowledge, indigenous and traditional ways of learning as part of various subjects
like Mathematics, Astronomy, Medicine, Agriculture etc.

Field visits to different states as part of cultural exchange programmes.

g e fa- (TS W) - 2020 R HTIH' & IR H o1 Rl § | Frfafaa § 9 o= 39 gimfed
T T?

fornfefai & 3 # gfg & emehem & fau =i wdend |
YT A o fd FTeA G 1 I SR 361 AR |
fafis fawei S8 1fora, @i fom, fafean, S sonfe & @ & w0 § shfcard M, s1frm &

Toeelt 3 qRUfe aiieh |

qihiae STeH-YeH wrEiswHl & feed & & # fafis T =1 /|

Which of the following is not true about ‘multiplicity of approaches” in teaching mathematics ?

(1)
(2)
(3)
4)

It is crucial for liberating school mathematics from the tyranny of the one correct answer.
Very often, there are many ways of solving a problem.
It hampers the learning of child as it leads to confusion.

Offering such a choice allows children to explore and use the approach that is most natural
and easy for them.

Tforg & fRreqor § ¢ fafis YR & adenl | o fou fefafea § @ - 9 6 § 2

T Thell IO I Tk & TEl I T I W § o I & foTg Aeerqul 7|
T 9gd oR BI1 § T T THE 1 GHIEH HH & FHE a0 o |
IE = o ST H a1 S € Fifh I8 YT i STSTE hidl ¢ |

T TE & fashed Tgd T | Tl ! IH IUFTH T ST FTH 3R TN A 1 TR fierar &

S 37k foru 9o wnfaes 2R 9 2

SPACE FOR ROUGH WORK / % &M & faq sTe

-1 RN T AR " L



36.

37.

38.

According to National Curriculum Framework, 2005, which of the following processes are least
relevant in a primary mathematics classroom ?

(1) Making connections and representations
(2) Memorising formulae

(3) Use of patterns

(4) Visualization

T IISI=A1 TREI, 2005 % STER, T Wethes Tford e ¥ frefafed § @ wiF-9t wispand god w9
w9 ¥ e €2

(1) Hay Terfad s iR g
(2) T R ] HA

(3) U (M) T ITERT HLAT
(4) Tl

Which of the following statement is most appropriate ?

(1) Students do not enjoy riddles in mathematics class.

(2) Mathematics lab is essential as it provides opportunities for hands on activities for students.
(8) Charts are used in mathematics class as an effective teaching-learning material.

(4) Use of teaching-learning material in mathematics class consume students’ time for practice.

frafafad § @ &F o1 FHue Tl i U § 2

(1)  foeneft 7fora =6t wen ¥ qeferel § oTHg & o |

(2) TIOIG T ofd S ® Eifen I foRameiier Tfafafrdl 1 oo UeM R 7

(3) Y VI ki el H Uk el feraror-siferme @rn ¥

(4) Toreror-sifermm wmht st SwRiT wiftra kT wen W fanfel % 1vamE w1 T R R @ R

What should be subtracted from the sum of 9909, 9099 and 9009 to obtain 25454 ?

(1) 2563 (2) 2356 (3) 2365 (4) 2536
25454 9T HT & TATT 9909, 9099 2R 9009 & AW H T =T ST BRI 2
(1) 2563 (2) 2356 (3) 2365 (4) 2536

SPACE FOR ROUGH WORK / 7% & @ fag sig
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39.

40.

A student of class III solved 26 X5 as 26

X 5
1030
Revisiting which of the following will best remediate this misconception ?
(1) One to one correspondence (2) Multiplication of one digit by one digit
(3) Concept of regrouping (4) Recalling multiplication tables
el 111 % Teh foremelil 9 26 x5l s YR 8 fha 26
x 5
1030
frefafed 5 & 91 <Sea 36 9ifd o6l a6 fag ged 39ged 2 ?
(1) ket Ffd | (2) T 3k I T 3k 9 oM |
(3) YTHHEHRIUT hl STTYRT | (4) RIS T YATE |
While solving 182
—67

in class II, a teacher explained that we have to subtract 7 from 2 and 2 is smaller than 7. So we will
borrow one from 8 and then we can subtract 7 from 12. One student told teacher : Mam ! why we
are borrowing from eight, as borrowing is not good. What a teacher should do in such a situation ?
(1) Teacher should ignore the student’s question and continue with her work.
(2) Teacher should scold the student and make him sit.
(3) Teacher should change the word ‘borrowing’ to ‘regrouping’ and then show the process of
regrouping.

(4) Teacher should tell the student to focus on learning the algorithm of subtraction.
HEMIH 182

67

I T HE g Tk AR 3 T fFn for g 7R 2 A G e € iR 2, Ser € 791 safee ed 8 9

Teh TYR 1 TS SR 79 g9 12 H ¥ 7 1 5T KL I | Tk ) J SAeANGR § Y27 : Hen ! 70 8 9 JUR

F A RE | SUR O =91 T el | 39 uRfEafa | stenfysn b e e =iy ?

(1)  3AeafUehT <l o= o ¥ ohl TSSTIS hileh U HH SR] W&l =T |

(2)  3TETYRT Sl =4 I I FX ST T AMET |

(3)  STEAIUHI Al ‘SUR' IR hl TSAR  TTHIR IR0’ 1 START HEAT AMGT SR ITHIRIHRL Tl Fishal
feart =few

(4)  TEATYeRT Rl = ohl gl AT foh wIeral it shord fafy ey o & < |

SPACE FOR ROUGH WORK / % &M & faq sTe

-1 RN T AR 13 L



41.

42,

43.

Yamina threw a die 10 times and got the following results :
53,6,61,4,53,3,2

Which of the following numbers she got the maximum number of times ?
1 5 (2) 6 G 3 4) 1
AT 9 Tk 9T 10 IR 39Ten iR 39 frefafea aftomy g gu -
53,6,6,1,4,5,3,3,2

freffiad Semel § 4 S s IR S @ w9 e g 2

(1 5 2 6 B 3 4 1

Brij had a wire of length 100 metres to cover the land of his choice. He wanted to take the biggest
land. Which of the following measurements should he choose to take the biggest area ?

(1) 5mx45m (2 15mx3m (3 30mx20m (4 25mx25m

ST o T U THE i SHIA B ok fT 100 HeX o1 TR o | 98 o Sl ST S Zehel AT amedl o7 |
frafafea & @ S8 fovg A9 1 Zwer o AfET dfe STt STHIT 1 Shat Afiehad & 2

(1) 5mx45m (2 15mx3m (3 30mx20m (4) 25mx25m

Which of the following statements is/are most appropriate for the idea of cognitive conflict in
teaching mathematics ?

(a) Thoughtful efforts of a teacher to expose children to cognitive conflict can enhance their
mathematical understanding.

(b) It is not useful for promoting mathematical understanding in children.

(c) Children get confused so cognitive conflict must be avoided.

Choose the correct option :

(1) Only () (2)  (b)and () (3) (@) and () (4)  Only (a)

Tfora fareror # HamTcHs HEY % foeR % fon frafafed § 9 =0 91/3 Fee 99l ST © 2

(a) HAMTCHS Hod & Gfd o=l sl G 9 o Trerek < foramequl yamdi 9 3eht Ifvrdta 9=t sht seran
fHet ka1 €1

(b) TE S H TOCT FHS hl T o7 & fI¢ g 72 7 |

(c) HAHIHs T § s 1feu i 399 o= 9iHd & 9 & |

el fashed 94

(1) ¥4 () @ O @ @ @ FE@

SPACE FOR ROUGH WORK / 7% & @ fag sig

-1 IRINERE AR 14 L



44.

45.

Which of the following is most appropriate to introduce ‘Data Handling’ at primary stage ?
(1) Drawing a bar graph on the blackboard and asking students to read the data from it.
(2) Asking the students to read time tables of bus and train timings.

(3)  Within classroom, collecting statistics of students” height; favourite food; colour; cartoon etc.
and asking questions related to data.

(4) Showing population census of a city for five years and asking students to compare population
growth.

Tefheh TR W ‘ 3hel 1 Yeie' & ufiwa & forg frafafaa & @ w0 9o suge 2
(1) ¥IMIE R TF <s-N@ Fafifend e iR faenfeli o su¥ 9 stfewmel 1 9gd & fau we )
(2) Toenfei o1 99 3R 7 & THF i GHI-GRE ) 981 & T FE |

(3) el H foenfeia it oraE, SHeRt TEElel WM, T, HIH 3G W SAThS ohg T 3R 3ffhel T
i 99 g |

(4) fomnfelei 61 U WX i 9TE WA ot SEE T femr iR faenfie @ smEen gfs @ ger w
1 e |

Which of the following is/are related to early number concept formation ?
(@) One to one correspondence

(b) Hierarchical inclusion

(c) Basic operations

Choose the correct option :

(1)  (b) and () (2) Only (a) (3) (@) and (o) (4) (a) and (b)
frafafea § @ S /9 AR e STHRoN & o1 9 Geifed § 2

(a) Tehehl T

(b)  USTIshHeh HHIEIM

() ey wishard

@ fowen o

1) (o) ¥ (o) (2) HA (a) () (2 () (4)  (a) 3R (b)

SPACE FOR ROUGH WORK / % &M & faq sTe

-1 RN T AR 15 L



46.

47.

48.

49.

Which of the following model is least appropriate to develop the conceptual understanding
regarding the relationships of ones, tens and hundreds in early grade learners ?

(1) Place value chart (2) Dienes blocks

(3) Money (4) Abacus

frefafed # 9 & | Hied YB3 Ha & fanfe § g, TerE IR A6 & Gy & IR H TauRuTHS
gz fasfad 1 & fau a8 &1 39 T 2

(1) i °H =i 2) <
@) 3= (4) frram

See the number pattern given below :

1, 8, 27, 64, 125, ,

What will be the next two terms ?

(1) 216 and 343 (2) 256 and 289
(3) 216 and 289 (4) 256 and 343
= feu T e ded @ e

1, 8, 27, 64, 125, ,

3T < U ;1B 2

(1) 216 3T 343 (2) 256 3R 289
(3) 216 3R 289 (4) 256 3T 343

The parcel sending rates are given below :
Parcel weighing (50 grams or less) : ¥ 15.00 parcel weighing (for every additional 50 grams) : ¥ 7.00

Meena wants to send a parcel to her friend Charu in Delhi. The parcel weighs 350 g. Look at the
charges and select the correct cost of sending the parcel :

(1) 57 (2) T 42 (3) %50 4) 55

e 95 S A G TR R

e 1 9R (50 T R I9Y FH) : T 15.00 TS T 9R (& Stfafad 50 I % faw) < 7.00
HIAT 7O Tt e Sh1 UrEe S e ], S feeett § R 1 ore i YR 350 g B 1 U ol SRt arEe 9e
1 T A 1 FAE i :

(1) RR57 (2) T 42 (3) %50 (4) T55
A number becomes double if it is increased by 8. What is the number ?

(1) 16 (2 6 3 8 4 12
T §EN § o718 Siis foa Sy, o 9% A 8 SN © | % HeA 1 gh ?

(1) 16 (2 6 3 8 4 12

SPACE FOR ROUGH WORK / 7% & @ fag sig

-1 IRINERE AR 16 L



50.

51.

52.

53.

The sum of all angles of a triangle is :

(1) 360° (2) 60° (3) 90° (4) 180°

= % |eft il w1 A R

(1) 360° (2) 60° (3) 90° (4) 180°
Which aspect of evaluation is used when a teacher ensures that test made by her fulfils the objectives
and criteria of that test ?

(1) Consistency (2) Validity (3) Practicality (4) Reliability
w9 fafare =g gifved i § foh ST gR1 a0 T 9, 39 R % Il UE HER! hl T H § a9
el & forg de1 1 S foran 7o 72

(1) gahd (2) e (3) IR (4) fovegHtaa
A is always a regular polygon.

(1) Circle (2) Isosceles triangle

(3) Square (4) Pentagon

T Hod TH g4 oIl

(1) 9d (2) HHfgsg By

(3 = (4) HEYS

According to National Education Policy (NEP) 2020, assessment of learners include :
(1) Physical and psychological domains

(2) Cognitive and physical domains

(38) Cognitive, affective and psychomotor domains

(4) Cognitive, social and spiritual domains

T foren Afa 2020, % AR, foenfert w1 e ! IMTHE YT

(1)  olifaes R TS e

(2) HeMIEF IR oifaw e

(3) AW, TaTHE 3R TS ST

(4) HAMICH, HHISTR, MeATcHeh EM

SPACE FOR ROUGH WORK / % &M & faq sTe

-1 RN T AR 17 L



54.

55.

56.

Which of the following is true for word problems in school mathematics ?

(1) Word problems focus more on procedural knowledge in mathematics.

(2) Word problems refer to exercises where the child formalises the situation into a form where
a specific mathematical technique can be applied.

(3) Word problems are not examples of mathematical modelling.

(4) Word problems are important in secondary classes only.

frefafed & ¥ SH-91 Thell 7o § gaRdt gared & o ad@ 2

(1) ZoRdt gare o o wrfaften 96 w ifs Sied g €

(2) TARd TATd 37 1A o Tefa wa § Sl g uRfeufa B ww v st w9 @ © o
T dehiteh sl @] foRa ST 9o |

(3) TON! TaTe TR e % 3SR TR 8N |

(4) TORGT GETe hae AieAfie wansti H Hewqul B € |

Which of the following should be the characteristics of mathematical language at primary level ?
(a) It should be precise.

(b) It must be ambiguous as it can add openness in the subject.

(c) It should be reinforced through child’s language used in everyday life.

(d) It must be highly technical as it will help students to communicate accurately in mathematics.
Choose the correct option :

(1) (a), (9 and (d) (2) (a) and (d)

(3) (@), (b)and (0) (4 @ and(Q)

frfafed § @ FF-9 wafis TR R o a6t fagand 2t e 2

(a) I% TS BT =R

(b) IT TEq T =ML AMfek I8 fawr | Garra Sie & |

(c) o= I TR e H ITNT St S ATl 9To1 o H1eA™ | 39 Yaford fohan S =ifeu |

(d) T Tty Fifafes S aifeq iife sad forenfafai =t i & w2 I99we e § wged e |

el fashed 94

(1) (@) (o) 3R () 2 (a) 3R (@)

(3) (a), (b) 3R (o) 4) (a) 3 ()

The number of degrees in 2% right angles is :

(1) 330 (2) 210 (3) 285 (4) 240
%wﬁﬂﬁ%ﬁw%

(1) 330 (2) 210 (3) 285 (4) 240

SPACE FOR ROUGH WORK / 7% & @ fag sig
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57. How many packets of % kg salt can be made from 7% kg of salt ?

(1) 90 (2) 45 3) 60 4) 72
7% kg T 9 % kg THF % fohe Uohe oA T Tk & ?
(1) 90 (2) 45 3) 60 4) 72
58. One millimetre is the same as :
(1) 01m (2) 0.01 cm 3) 01 cm 4) 0.01m
T HefHiet s ©
(1) 01m (2) 0.01 cm 3) 01 cm 4) 0.01m

59. Which one of the following costs least ?
(1) 75 dozen items of X 7.50 each item
(2) 75 packets of X 750 each
(3) 750 packets of X 7.50 each
(4) 7.5 dozen items of X 750 each item

Trefafea § 9 forgent ra 9od 9 ¢ ?
(1) T 7.50 JF I&] Al 75 S5 a&qu

(2) %750 9 Yehe TS 75 Tehe
(3) % 7.50 Y&® ke At 750 Tahe
(4) %750 YAH I ATl 7.5 To T

60. Which of the following statement is least appropriate for encouraging mathematical learning ?
(1) Discourage intuition as it hampers the development of mathematical ideas.
(2) Failure does not imply that students cannot do mathematics.
(3) Everyone can learn mathematics.
(4) Mathematics learning is not gender specific.

frafafead & ¥ HA-91 Fem T i Sl edfed w1 & folu 9o 7 39 © 2

(1) ST I TaETEd LA AMfeT Fifeh I AR forami i faewfaa o § s e §
(2)  TEherd 1 3¢ 7g e g fop ferened ot & Y wehd |

(3) |l T Hiw TR

(4) It erfermy Sex-fafire 7 € B

SPACE FOR ROUGH WORK / % &M & faq sTe

-1 RN T AR 19



PART - 111 / 417 - 1l
ENVIRONMENTAL STUDIES / 9IaRVI 3rc4g

Direction : Answer the following questions by selecting the correct/most appropriate options.

et : frefafea o9 & S o7 & T el gad 39ged faeeq gia)

61.

62.

63.

P-I

Which one of the following statements regarding Al-Biruni is NOT true ? Choose the correct
answer.

(1) He has praised the making of ponds in India.

(2) The place that Al-Biruni came from is now called Uzbekistan.

(3) More than a thousand years ago, he came to India.

(4) He did not write anything about ponds in India.

1ot & s H Frafafad wemi § @S- T o[ T2 6 §2 W S| g ¢
(1) 399 T @l § YR | qTelel M S qeheiieh i G 6t

(2) oTaA-Toret STl 9 3T 9 S ToThel SoIfh&d Hed ¢ |

(3) BERY Hft AR A 9Bl IE WRA A o |

(4) ST 9RG % 3 GUA F qresl & 9N H Fw of T foran §)

Which of the following strategies promotes inquiry while teaching the theme “Food” ?

(1) Showing pictures of various preserved food items used in different regions of India.
(2) Asking students to collect pictures of various food items.

(3) Demonstrating fireless cooking of sandwiches, shikanji (lemon water) etc.

(4) Asking students to find out food preferences of their family members.

frefafed # 9 wF o WHifa  Sism’ ofm #1 Ter T I9drs Sl 9 I § 2

(1) R & fafu= &= § s9am forg S aret fafy= affara @ el « fos foam
() BE 9 fafy= @ vl % fa TR w0 o+ fae e |

() defam, fest (9 areX) aiRE H1 {1 30 & 9 I 95T |

(4) BEI ¥ ITh IRER F USH i WM F TGS H1 Tq1 T & foId Hgm |

An EVS teacher taught about animals to her students and ask them to do the following task :
(a) Write names of various animals around them

(b) Observe activities of different animals

(c) Classify animals into categories based on observations

(d) Define the term “Animal’

Which of the above is NOT appropriate for students of primary level as per the nature of EVS at
primary level ?

(1) Only (d) (2) (a)and (9) (3) (b) and () (4)  Only (¢)

T Satuy frfaest o 1o STl 1 SHeRl o IR § 9 M 1R 3% f=faiad ®rl i o faT el
(a) 3TH-9 & fafy=1 el o m fafem

(b) Tafs= Sl =t wifafafe=i w1 stEeie & |

(c) 3TacIRT o STHR T e &l AR § afihd ol |

(d) SR ol qRIfd |

ST H 9 A 91 Wi R & BEl & {0 ST TEél & ?

(1) = (d) @ @FE B OFE @) F()

R Rn 20 L




64.

65.

66.

P-I

What is the mass of an object with a density of 12 g/ml and a volume of 3 ml ?
1) 48 (2 158 3 24g (4) 368
Y I T I T HRQ Tt s 12 /el ot § qen e 3 el ofter €1

(1) 47 @) 157 (3) 247 (4) 367

Read the following statements carefully :

Statement (I) : EVS syllabus is divided into 6 themes Water, Relationships, Food, Transport,
Shelter, and How things work.
Statements (II) : The themes of EVS are close to children’s life.

(1) Statement (I) is false and Statement (II) is true
(2) Both Statements (I) and (II) are true
(3) Both Statements (I) and (II) are false
(4) Statement (I) is true and Statement (II) is false.

fr=fafad wuHl @ &H 9 qfed
HYT (I) . $.501.TF TISTHY i 6 AT § ST T § U, SO Geie, 1o, AT, e e a&qu il
%3 w

HYA (1) : .91.T8 % o I=ii o o % 9gd w9 © |

1) A (I) T € T R (II) § 2 |

(1)

(2) < SReE (I) T (II) 9 T
(3) <M SReM (I) T (II) T T
4)

4) YA () T2 T T HYA (II) Tod ¢ |

Which one of the following regarding Johad is correct ? Choose the correct option.
(1) Stores water from rivers.

(2) Itis a community based rain water harvesting system.

(3) It filters impurities from water.

(4) It pumps groundwater into nearby wells.

e ¥ gwifyd, frfafed § 9 ®F-91 Tw FoF 98 827 T6 WA |

(1) % el | 9 Soheel il ¢ |

(2) 9% UYSHE UG Il el HEge Yomed ¥

(3) % U § SRIf5Al I fheet w1 §

(4) % STEYH % ol H THHA 1 U 3T HIAT B |

LR 21 L



67.

68.

69.

P-I

Nina, an EVS teacher of class 5 gives a group assignment to her students that they have to visit
nearby agricultural farms and find out information about the implements used by farmers during
agriculture and the type of crops they grow. They also have to collect photographs and prepare a
report. What process skills and learning indicators are involved here ?

(1) Prediction, experimentation, observing

(2) Questioning, Expression, Inferring

(3)  Questioning, Experimentation, sensitivity towards environment

(4) Hypothesising, inferring, expression

e 5 k! AT ffarent i1 o9 S 1 Tk e SR T € foh S U o R Wl i SR e ®
3R Ff & <A fordaml g1 STEM fRT S ool STFOT SR Sk g SE S aTell hEe o o) o
SFHRT U Baft §1 3¢ BT off hetae e e TR et 1 el B § e wive o Hiew &
Hahdh IMHA © ?

(1)  STHE, TAT, ecieh

(2) 9T KL, fHeAfR] HEAT, RO R

(3) TS ISl TR AL, AR o gfd Hergeiteran

(4) afterear, aftomm fHemret, stfyeafe

The territorial states of Haryana are :

(1) Bihar, Punjab, Uttar Pradesh

(2) Himachal Pradesh, Rajasthan, Uttar Pradesh
(3) Uttar Pradesh, Uttarakhand, Madhya Pradesh
(4) Himachal Pradesh, Punjab, Bihar

B & HiHredt 9 €

(1) R, 9SE, W I_w

(2) ferAm=e Uew, TSEYM, SW Ie¥
(3) W YRV, ITETE, HLA YT
(4) feram=e yew, 999, foaRR

Which of the following sets depicts the themes of EVS at primary level ?
(1) Shelter, Travel, Things we make and do

(2) Weather, Water, Travel

(3) Food, Material, Shelter

(4) Family and Friends, Travel, Natural resources

frefafed # @ w8 o 99 mufis TR W g F o[ w wiar § 2
(1)  3Tam™, A, =il S 80 99 § 3R & g

(2) HrH, 9, A

(3)  HISH, Uerd, SEE

(4) 9RER IR =, am, Tk darem

R Rn 22 L



70.

71.

72.

P-I

Alex, an EVS teacher of class 3 while introducing the theme “Work We Do’ helps his students to
cut colourful strips of paper and weave the strips to make a mat. The edges are glued together to
make a beautiful mat. Which of the following objectives should Alex help his students focus ?

a) learning about colours, patterns and developing an aesthetic sense.

(

(b) relating the activity to weaving done by weavers.

(c) memorising the steps of making mat.

(d) choosing papers of attractive colours and learning cutting of strips perfectly.
(1) (a) and (0) () (a), (b) and (d)

(3) (b), () and (d) (4) (@) (© and (d)

el 3 % Tk Souy forereh Toiad o ‘g0 <fisl ohdl S &' o Rl YB3 A GU 79 Bl bl SIS i
T dfeeai 1 red 3R afgdl ol =er’ oFF o 7eg &I | T Yok =2k oM & forw forri &1 we |
TergenTen Sian 81 Feferiad § 9 o7 S99 ¥ Teis =l 3794 Bl &4 Shigd i | Hee il =ey ?
1, U & s § Hrgan 2R Hied sy faefad e |

a

~—

(

(b) 3 T sl TR GRI 1 ST el I8 | Helferd o |
(c) T W IH i faft & =l 1 A1g HE

(d) TREH i o TR FA1 AR e 1 g 0@ | Hre G ]
(1) (a) 3 (o) 2 (), (b) IR (d)
(3) () (0 () 4) (@), (o) ¥R (d)

Textbooks of EVS should reflect the recommendation of NCF 2005 of linking students” life at school
to their life outside. This implies :

(1) Teachers need to use textbooks as one of the teaching learning resource.
(2) Students are compelled to memorise few important concepts of EVS.
(38) Textbook is the only source of knowledge.

(4) Textbooks supports students to construct knowledge through all the given activities.

ST i TTSag&iehl ol forenell That o e i ITeh aTeX o Siiad | SIS &1 TTHITE, 2005 i FawmiT
=1 wfafsifed s =anfew | ge o1 &

(1) Torerent 1 araqEaent 1 foreror-eifermm TamemT # U GOTHE % TG H ST I Hi SR T |
2) famneft EVS % wewaqul straumensii 1 a5 w1 % faw e )
(3) USIYE® I I THAT &4 g |

(4) UTSIYEeh foRnfofl i ST STHU % Wt Hdl o HieAH ¥ 9 1 0 A § e S €

Doctors prescribe blood test for patients to confirm malaria. Blood test is done to :
(1) check for microbes in blood
(2) check for haemoglobin in blood

(3) check iron in blood
(4) check for eggs of female anopheles mosquitoes in blood

iR WIS H HATE i Te=M & fau T &t Sirg e & fore FRfem o €1 5 & < 9
(1) 35H Juferd SAATIE sl ol = |

(2) SEH IUTEd ST 1 Tl =i |

(3) TH UMk &g dca i A 1 TdT =T |

(4) SHH TR 793 o 31l ot Iufefa 1 ol <ol |
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74.

75.

76.

P-I

Which of the following best reflects child -centred strategies in teaching EVS at primary level ?

(a) Discussion (b) Demonstration (c) Lecture (d) Survey

(1) (a) and (d) (2) (a) and (b) (3) (b) and (c) (4) (c) and (d)
frafafad & 9§ = sTe-5i=a WA % gl ST=s1 i @ ?

(@) == (b) YSH (c) ==& (d) Ge&T

1) () R (d) (2) (a) &R (b) (3) (b) ¥R (o) (4)  (c) IR (d)

Ravi took some water in a glass. He puts a lemon in it. Then, he keeps adding a lot of salt into the
water, half a spoon at a time. After some time, he notices that :

(1) Lemon remains mid-way in glass of water.
(2) Lemon sinks in water.
(3) Lemon floats in water.
(4) Lemon splits in water.

U 7 T firems ® S foran | 399 397 Ua gred g e fean | fiRy, 8 3§ fae # =gd 91 T9e Sterd
q, ST TE U IR H | 9 THY I¥EwE, S99 I fF

(1) 9 fra™ & s=isi= =en T

(2) e S H ga T
(3) g @ | a amI
(4) e STl H &1 9FT H 2 T

Read the following statements carefully and choose the correct options :

Statement (A) : Xylem transports water and minerals from roots to rest of the plant.
Statement (B) : Phloem translocates food from leaves to various parts of the plant.
(1) (A) is false, but (B) is true (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4) (A) is true, but (B) is false

QU 77T el 1 LHYe U¢ el Rl forehed I ¢

HIT (A) : STEeM 5ol 3R Gisi 1 SIS & U9 STeh! fegdi qoh T 2 |

HYT (B) : TAITH o i ufadl | 9e & fafi= il § weriafka o €1

(1) (A) 7o § iR (B) W& 1 (2) < (A) TR (B) W& ¥ |

(3) < (A) 3R (B) W& T € (4) (A) W& § 3iX (B) Terd B

Comprehensive evaluation means holistic way of evaluating a student. The ways in which an
EVS teacher can assess her students for comprehensive evaluation in EVS are :

(1) portfolio (2) teachers’ observation
(3) half yearly and annual exams (4) rating scale during assessment of activities

9 YeAiehd 1 318 8 Teh B o1 Hodlohd H 1 G0 Teh1 | 59 Tk | T sefied feren deffeg o
I Yoo & feTT ST BTl 1 e H Tohell € I8 € -

(1) eIt (2) Torereni 1 TR
(3) Adanfie IR At wdem (4) Tifafafet & Jeaiea & fore e wha
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77.

78.

79.

Read statements (A) and (R) properly and then answer the following questions.
(A) : Silkworm can find his female worm from many kilometers away by her smell.
(R) : Some female insects release ‘Pheromones’” which can be recognised by their males by smell.
Choose the correct answer :

(1) (A) is incorrect but (R) is correct.

(2) Both (A) and (R) are correct and (R) explains (A).

(3) Both (A) and (R) are correct but (R) does not explains (A).

(4) (A) is correct but (R) is incorrect.

A (A) TAT (R) I = & 1 qen Frafafaa wei &1 sw S|

(A) : ITH HT IS TI HIET 1 IHeh! 7 F Hg fheiier [ A & 89 ot T

(R) : T AR *I1  HIHAY Bied § f99F 14 91 R HI1S Tea™ o 2 |

frefafed o 9 98 ST 1 T A

(1) (A) 7o § fog (R) 9 2

(2) THl %A (A) T (R) T & T4 (R) , (A) T HE LA FHIA € |

(3) TH HUA (A) T (R) T ¥ fohg (R), (A) T T SARAT &l Ll ¥ |

4) (A) 5 ® forg (R) T T

Students conduct a survey in their homes and neighbourhood to find out the number of members
and approximate amount of water used in each family. What skills and processes are developed
through this activity ?

(1) prediction, experimentation, observing

(2) questioning, experimentation, sensitivity towards environment

(3) questioning, inferring, expression

(4) hypothesising, inferring, expression

J IRER B @ ot WA 3R U i STHIFG /= 6t WUd 1 a1 T & e S 3o =1 IR TS
H T HAau N B | 39 Attt % W § w9 s o gfwerd faswiaa S § 2

(1)  STHE, TE, Tecieh

(2) W S, AN HEA, FACR  Yiq HagTeierdn

3) YA, o feprer, sifueafa

(4) URehed, aRomH feRter, sifyyeafad

You wish that students learn by peer-learning strategies. Which strategy will you adopt to form
groups ?

(1) Form a group of 5 students of same gender and socio-economic background

(2) Make a roll number-wise groups of 4/5 students

(3) Make a homogeneous group of students according to their scores in examination

(4) Make a heterogeneous group based on participation and cooperation

319 =Ted & T B Teurel- e Torifasl grr e | 319 oo g A ?
(1) TuH e iR armfse-enfiie qeyfd % 5 9l a1 T g oA |
2) 4/5BME % I FoR & STHAR FHE AT |

(3) TRIET H U 3ehi % STIER BTE 1 Uk THH YT S |

(4) YRR 3R TEd % SMYR W T faom THg o9 |
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80.

81.

82.

P-I

Assertion : The theme ‘Family and Friends’ is a major theme in EVS and ‘Plants and Animals’
are presented as a subtheme of ‘Family and Friends’.

Reason : The interdependence of human beings and other forms of life is highlighted
through themes.

(1) The statement of the assertion is false but the reason is true.

(2) Both the assertion and reason are correct and the Reason is the correct explanation of the
Assertion.

(3) The assertion and the reason are correct but the Reason is not the correct explanation of the
Assertion.

(4) Assertion is true but the reason is false.

IR - ofim ‘gfaR IR first’ Saed U wg@ o i el o) el o uftar oiR e’
% 3U-ofi1 & &9 H YA a1 S S

ST : offH &% GRI ATSH IR S & 3171 Tl bt STRAATATd W YhTe STl T T |

(1)  STfeReM TTerd § T SR Te T |

(2) AfveRe 3R HRU SHT T8 ¥ 3R R0 TR i T8l e ¥

() fuewed iR FRw wE ¥ Afera FR, sifewes w1 wdt e TE S ¥
(4) SIfReE w2 § Aferd R TTerd 7

Which one of the following statements regarding Ghadsisar Lake is NOT true ?
(1) Itisin use till today.

(2) King Ghadsi of Jaisalmer got it made.

(3) It was built around 650 years ago.

(4) It was connected with nine lakes.

TeHR ¥ Hefeq Frefafaa sl § ¥ HH-91 Th we e 6 82 T8 W g |
(1) o8 a7 off Ja  §

(2) SIHTHR TS TSH 7 3 S o]

(3) IT TR 650 T TSl ST 7T 7 |

(4) I A ATEl | Sl g o

Read the following Statement (A) and Statement (B) below and choose the correct option :

(A) : About 4700 years ago, some of the earliest cities flourished on the banks of river Indus and its
tributaries.

(B) : About 1500 years ago, cities developed on the banks of the Ganga and its tributaries.
(1) (A) is false but (B) is true. (2) Both (A) and (B) are true.

(3) Both (A) and (B) are not true. (4) (A) is true but (B) is false.

frefafed ®em (A) 9°1 A (B) 1 &M 9§ Ug a1 §&1 fashed o1 A Y |

(A) : TTHT 4700 9 Yo FHY qe1 THR! TREH Al o fRIR $5 Rfvsw TR Hol-Fel |

(B) : T Qe SHRI W Al ok fRIR TRI k1 forehred e eRT 1500 99 o g3 |

(1) (a) e & fg (B) Wl 2 (2) =T (A) TH (B) WE

(3) 3MI (A) T (B) Rl TRl B 4) (A) & T forg (B) T T

)
)
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83.

84.

85.

86.

P-I

An EVS teacher asks her students to think and answer “Why do we feel comfortable in woollens
clothes during winter”. This question is a :

(1) factual question (2) convergent question

(3) analytical question (4) hypothetical question

T geiug farferent oom B @ Gem iR Same 37 & foe wedt € 76 e afdal & SR ot wuel | a1
TES TRgE HA &' | T TE R U |

(1) dAHS Y9 () srfaErt g

(@) fascrvomers g (4) IS T

“Pochampalli” is famous district for its beautifully designed bright coloured sarees and for the
special kind of weave which is also called Pochampalli. It is a part of :

(1) Telangana (2) Tamil Nadu (3) Karnataka (4) Maharashtra
" et GeId fese ot =SHehaR Tl i |ifedl AR Iy R &l A% 4 off dremded & wed
€ % fou foerm foen €1 @5 ffafea § 9 forae s 82

(1) d&E (2) dfferErg (3) leh (4) WRNE

X

It has been observed by bird watchers that there is a peculiar species of birds. The male bird make
their own nests and the female bird looks at all the nests and selects the one she likes the best and
decides in which nest to lay her eggs. The name of the bird is :

(1) Sun bird (2) Tailor bird (3) Weaver bird (4) Indian Robin

TfeT a1 STeTTA hiA a1l 1 I8 Yaqur foman § T aferdi st wer fasim geifa # =) geft s799-3799 =gl sHd
g1 e galt 39 9 SiEel ol T ¥ 1 STH 9 SH S 9ud T3] oF T § SHH 98 27U I T fved
FA Y| TH TR H AT

(1) IR @M (2) <R fafe (3) ofter Uaft (4) wHaAraet

Consider the following statements about beehives :
(a) Honey bees live in beehives. Every beehive has one queen Bee that lays eggs.
(b)  There are only a few males bees in the hive which have special roles as workers.

(c)  Most of the female bees in the hive are worker bees who work all the day in making the hive
and also looking after the baby bees.

(d) The worker bees fly around Litchi flowers in search of nectar for honey.

The correct statements are :

(1) (a) and (d) (2) (a) and (b) (3)  (c) and (d) (4) (a) and (c)

AYHfergdl o Bl o R H A= U T el 9 fomm IS

(a) FYARREAT 6T & T | Wl €1 W BA H TH T Tl Bl & 57 2708 St 7

(b) B9 H P R T «ff 2 T S D9 F fore gfvw & w0 H fodm & #a €

() B H siferenier AreT AfaaT gftres Afraar gt ¥ S f5F R B &l 59 3R =i 1 wer 1w off
HA T

(d) s Hodl I * folu T i @IS & fore o=t & Fell o =R SR Faeh o € |

TTH 9 W& T

1) @@ @ @FWE @ @D @) @A
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87.

88.

Consider the following statements (A) and (B).

Statement (A) : Bora is a common variety of rice used in Assam.

Statement (B) : Paddy grows well in clayey soil and requires a lot of water.
Select the correct code from the following.

(1) (A)is wrong but (B) is correct (2) (A) and (B) both are correct

(3) (A) and (B) both are wrong (4)  (A) is correct but (B) is wrong

= feu 7T FeEl (A) 3R (B) W fa=ar #ifs

HIT (A) : T TG H ST Ht T T 1 HT Th T GhR |

HYT (B) : UM ! Wl ekt frgt § 1=t Bt € U 39 W Sl IR " H i =g
forferfian & & @ wre g

(1) (A) 7Tod € T (B) T © 2) (A) 3R (B) SHI T ®

(3) (A) 3R (B) SHi T © 4) (A) T € T (B) T ©

Read the given statements carefully and choose the correct option.

Assertion (A) : We can cook food easily at sea level as compared to higher altitudes.
Reason (R) : At high altitudes, boiling point of water increases.

(1) (A) is false but (R) is true.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
4)

4)  (A) is true but (R) is false.

e T heri =i eArgeeh o¢ iR W forshed o+

AfeRer (A) . &H Ifus SR &t o | TE a6 W STEHT ¥ WM TRl Fehd © |
T (R) : 31fereh S W UM T ST &g S ¢ |

(1) (A) 39A B AfHA (R) T T

(2) < (A) IR (R) T T 3R (R), (A) FT & TR T |

(3) <HI(A) 3T (R) T € A (R), (A) T Tl TR0 Tl ¥ |

(4) (A) 99 T A (R) 39 T
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89. A chapter in EVS textbook of NCERT describes Wahida Prism and her experience in the Navy as
a doctor. What are the reasons for including this chapter ?

(a)
(b)
(©)
(d)
(1)
€)

Her experience challenges gender stereotypes

Her story gives a peep into the life of a medical officer in the armed forces
Understanding that prism reflects 7 colours

Understanding the difficulties faced by her and her ways of tackling them
(b), (d) and (a) (2) (@) (b) and (9

(b), (¢) and (d) (4) () and (d)

T E R, Fi LA TE. IS & Th 1A H g o1 g iR A § el & ®9 H 3H
3TNE T IUF B | Y A A & T HRT E 2

IHT SIS ATk Tl 1 A <1 B |

3Gk T T ol | ek faferedn aiferet o S ol T 2eteh <t ©
=g FaegE for T 7 i o <erian ©

IHF T S ae Hfegat it S froey e B wweE

(b), (d) ¥R (a) 2 (@), (b) 3 (0)

(b), () ¥R (d) (4) (o) ¥R (@)

90. Seema, an EVS teacher organised a field trip to zoo for her students. Which of the following are
the most appropriate objectives of the trip to the zoo ?

a)
b)
<)
d)
1

(
(
(
(
(
3

)
)

Recall names of animals in the zoo

To relate concepts related to animals

To promote process skills

Assessment of students’” learning at the zoo

(@) and (b) () (@), (b) and (©)
(b), (¢) and (d) (4) (@) (© and (d)

o, us seig fofaent 7 ot sEl & fau fafearsr ww &9 yuur (wies feu) @ emEeE fEan
frafafeaa & @ < fafeanr &t amn & T8 ST 5639 € 2

fafeameRr & SHadl o =19 A5 BT

Sl 9§ Fayd STAURMS hl ST

JishaT ShIvTel ST SIgra A1

fafearr & BT & WE" &1 A

(a) 3R (b) 2 (@), (b) IR ()
(b), () ¥R (d) 4) (@), (o) ¥R (d)
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have
opted for ENGLISH as LANGUAGE-I only.

Read the passage given below and answer the questions that follow. (91-99)

Yet as soon as she saw him, she did not look as Alfred thought she would look : she smiled, her
blue eyes never wavered, and with a calmness and dignity that made them forget that her clothes
seemed to have been thrown on her, she put out her hand to Mr. Carr and said politely, “I'm
Mrs. Higgins. I'm Alfred’s mother.”

Mr. Carr was a bit embarrassed by her lack of terror and her simplicity and he hardly knew what
to say to her, so she asked, “Is Alfred in trouble ?”

“He is. He's been taking things from the store. I caught him red-handed. Little things like compacts
and toothpaste and lipsticks. Stuff he can sell easily,” the proprietor said.

Mrs. Higgins put out her hand and touched Sam Carr’s arm with an understanding gentleness,
and speaking as though afraid of disturbing him, she said, “If you would only listen to me before doing
anything”. Her simple earnestness made her shy; her humility made her falter and look away, but in a
moment she was smiling gravely again and she said with a kind of patient dignity, “What do you intend
to do, Mr. Carr ?”

“I am going to get a cop. That's what I ought to do.”

“Yes, I suppose so. It's not for me to say, because he’s my son. Yet I sometimes think a little good
advice is the best thing for a boy when he is at a certain period in his life,” she said.

Alfred couldn’t understand his mother’s quiet composure, for if they had been at home and someone
had suggested that he was going to be arrested, he knew she would be in a rage and would cry out
against him.

91. Which of the following statements is not correct ?
(1) He felt that he would have to forgive Alfred.
2)
(8) Outside, her conduct was like that of a caring mother.
(4) When she introduced herself, Mr. Carr felt stupefied

At home, Mrs. Higgins would have been enraged.

92. Study the following statements :
(a) Mr. Carr intended to get Alfred arrested.

(b) Mrs. Higgins wanted him to be given a chance to reform himself.

(1) Both (a) and (b) are wrong. (2) (a) is right and (b) is wrong.

(3) (b) is right and (a) is wrong. (4) Both (a) and (b) are right.
93. ‘... made them forget that her clothes seemed..

The underlined word is a/an

(1) Conjunction (2) Noun (3) Pronoun (4) Preposition
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95.

96.

97.

98.

99.

..... he hardly knew whattosay toher.'

The underlined is a/an clause.

(1) Adverb (2) Principal (3) Noun 4)

Study the following statements :

Having looked at his mother, Alfred was :

(1) surprised (2) shocked (3) scared 4)

‘... her humility made her falter...”

Choose the word opposite in meaning to the underlined one.

(1) hitch (2) pride (3) frankness 4)

“.... her blue eyes never wavered'.

Choose the word nearest in meaning to the underlined one.

(1) snickered (2) advanced (3) hesitated 4)

Which of the following statements is not correct ?

(1)  Yet, she was very gentle in responding to him.

(2) Alfred was a petty thief.

(3) He stole cream, compact and lipstick from the store.

(4) At Mr. Carr’s accusation, Alfred’s mother felt intimidated.

-1 RN T AR 31

Adjective

(a) When she entered the drug store, Mrs. Higgins was not properly dressed.
(b)  She looked like the mother of a guilty person.

(c)  Mr. Carr did not expect her to be calm and dignified.

(1) (a) and (b) are wrong but (c) is right.

(2) (a) and (b) are right but (c) is wrong.

(3) (b) and (c) are right but (a) is wrong.

(4) (a) and (c) are right but (b) is wrong.

pleased

intrigue

waved



Read the extract given below and answer the questions that follow. (100-105)

All the world is a stage,

And all the men and women merely players;

They have their exits and their entrances;

And one man in his time plays many parts,

His acts being seven ages. At first the infant,

Mewling and puking in the nurse’s arms;

Then the whining school-boy, with his satchel

And shining morning face, creeping like snail

Unwilling to school. And then the lover,

Sighing like a furnace, with a woeful ballad

Made to his mistress” eyebrow. Then a soldier,

Full of strange oaths, and bearded like a pard,

Jealous in honour, sudden and quick in quarrel,

Seeking the bubble-reputation

Even in the cannon’s mouth.

100. A school-boy :
(1) Dboth (2) and (3) (2) is reluctant to go to school.
(3) looks beautiful in the morning.  (4) likes his teachers.

101. A soldier is jealous about his honour as :

(1) he wants to win at any cost.

(2) heis jealous of his enemy.

(38) heis very sensitive about his honour.
(4) he is ferocious like a leopard.

102. Identify the figure of speech used in the first line.
(1) Hyperbole (2) Simile (3) Metaphor (4) Personification

103. “..... their exits and entrances.....
The figure of speech used here is :
(1) Hyperbole (2) Simile
(3) Metaphor (4) Personification

104. What do all men and women do ?
(1) fight wars
(2) perform various roles in life
(8) indulge in indoor games like chess, cards, etc.
(4) play outdoor games like football, cricket, etc.

105. Why is the lover’s sign compared to a furnace ?
(1) He is writing a ballad. (2) He gets angry very soon.
(3) He feels emotionally charged. (4) He offers warmth to his beloved.

P-
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107.

108.

109.

110.

111.

112.

113.

P-I

Which one of the following is NOT correct about teaching grammar effectively ?

(1) Learn grammar by memorizing its rules.

(2) Promote genuine communication.
(3)  Elicit relevant rules of grammar.
(4) Provide practice in communication.

Which one of the following statements is NOT correct with respect to the given sentence ?
Sentence : Rhymes, songs and chants are ways for children to :

(1) enhance expression and the rhythm of sentences.

(2) extend vocabulary.

(3) memorize words and sentence structure.

(4) practise pronunciation.

A teacher in class III asked her learners to ask their partners five questions about their abilities
using the word ‘can’, e.g can you swim ? This type of activity enhances :

(1) Passive listening (2) Oral fluency practice

(3) Controlled oral practice (4) Free speaking

Which one of the following is NOT true about using the library at the primary level ?
The library should not just be seen as a storage space for books, rather

(1) a read-aloud of the textbook can be best done in a library.

(2) learners can be exposed to a variety of genres of children’s literature.

(3) as an active environment for engagement with books.

(4) teachers and other adults can also model reading behaviour in the libraries.

Literacy teaching approach that emphasise the relationship between letters and sounds is :
(1) phonics instruction (2) whole language Approach

(3) grammar translation (4) situational approach

Which approach/method is geared towards the learner’s main goal of using language in a real-life
context ?

(1) Audio-lingual method (2) Natural approach

(3) Communicative approach (4) Direct method

Which approach/method doesn’t encourage learners to use their native langauge in a language
class ?

(1) Audio-lingual method (2) Natural approach

(3) Communicative approach (4) Direct method

Which one of the following is NOT the principle for textbook design at the foundational stage ?
(1) Technology Principle (2) Curriculum Principle

(3) Presentation Principle (4) Concrete Principle
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115.

116.

117.

118.

119.

120.

To create an inclusive, welcoming and joyful environment that supports every child’s participation
in achieving the competencies outlined in the National Curriculum Framework (NCF) can be best
done by :

(1) decorating the classroom for a colourful environment.

(2) conducting indoor activities and avoiding them from outdoor activities in scorching heat.
(3) majorly focusing on the learners good health and well being.

(4) displaying children’s work from different domains of development.

Children in the foundational stage are more engaged in learning when :
(1) they focus only on developing fine motor skills.

(2) they sing rhymes after the teacher.

(3) they use multiple senses and actively use their hands.

(4) they trace or write letters repeatedly in their notebooks.

A student of class V says, “I give my work a final check for accuracy before submitting it to the
teacher.” The student is working at the writing stage of :

(1) Peer-evaluation (2) Drafting
(3) Re-drafting (4) Proof reading

Which one of the following should be mastered to be literate ?
(1) Accuracy and phonological comprehension.

(2) Phonological awareness and fluency.

(3) Sight vocabulary and pattern recognition.

(4) Decoding and language comprehension.

A teacher is planning to collect a variety of Teaching Learning Materials (TLM) for his class II
students. Which one of the following is NOT a correct criterion for choosing TLMs ?

(1) The material chosen should be made by the children only and have some roughness to avoid
slipperiness.

(2) The material chosen should be attractive and safe for children of this age group to use.

(3) The material chosen should provide adequate opportunities for the children to explore and
experiment with curiosity.

(4) The material chosen should be preferably locally made or locally available, as this would
allow for easy replacement.

A third-grade teacher wishes to establish a reading corner in her class. In making the judgements
for selecting a children’s book, which one of the following questions would be most important to
be considered first ?

(1) Will these books be appropriate for use in more than one instructional context ?

(2)  Are the authors of these books well-known and respected authors of children’s literature ?
(3)  Are the books written for the independent reading level of most students in the class ?

(4)  Will the books help address the goals of the third-grade reading curriculum ?

A teacher asked the learners to exchange workbooks and check their partners work. The objective
of this task is to :

(1) develop the skill of peer correction.

(2) give practice in extensive reading.

(3) give practice in using new vocabulary.
(4) give controlled practice of structures.

-1 IRINERE AR 34 L



- 1V

y§T -1 : =l

TR

WUl :  ghEnefl WRT-IV (WE. 91/ 120 ) & 91 o S had aHft § G 3 Wren-1 1 faehey far

FrAfefaa TenyT &t Ugdht UD T U9l o W&/ Taifeeh Suded faehed Rl 9& ditag | (91 - 99)
Al iR aed I &Ui H Twdl iR e tew giadt sevaswd €1 79 & 8 iR wifas faem
AR Tr=sdl & 3TAM ¥ | J1ed T=adl o Sfaia e, fen-vaiero, =5t amifae iR e feafq =
T a1 € | STEd Tesdl Sl YR STiaie Wesdl ¢ 1 74 i Wosdl HMd SHe8R &l QU ¢ | 9, &,
vIifd, I TR T S AT & TSI O 1 Seete Wik faft, faum iR sxaen =1 Seeted T

91.

92.

93.

94.

95.

96.

97.

98.

TN &% TR 99 & fog Haffie eyl T

(1) wifq, STEd WSl iR @A (2) To=mi 3iR wial st afesa
(3) IR w=sa @ s (4) Ifd, 99 iR STEA @

‘ST TI=AT T AU AT wresd ¢ 1

I T A €

(1) 9l iR ool T T TR 9 @ad ¢ |
2) SR 3R il Tl Sl ST ¢ |

3) il Tesdl W SRl Wl S
4) STEd Wesd W g e Eesd oeid ¥

gfad’ § g ©

@1 = 2 o (3) @
Wﬁfmw%:

1) = (2) =l (3) e
3Niafieh Tresar ¥ Geiferd &l @ :

(1) foen 2) fa fo=r (3) ifd

JfTATGT SATATIRA T

(1) 9= iR il = iR gs fo=m
(2) el Wesdl AR e

(3) i @ IR e

(4) 9 iR il resar SR fefer

faum' # 3o Yo T W W 9

(1) dgrw ) faurf® (3) fawrfT=
= o 9 forad foRmmor-forre 1 Heiy 721 82

(1) =S o (2) dTea wesdl
(3) AT SAeeHehdl (4) T - wiEE

(
(
(
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99.

 STidfen e’ | 9 ©

1)  H9 ot GHE HEsT 1 THA HEAT |
2)  HAH hiFA Wre S |

3) WA % G WAl I gL HE

4)  TF H! HETAT Hl ISH AT

o~ o~ o~ o~

el &f 13 ehiaar ki Ufekal okl Ugeht Had 3ferd faehed ST =@ hifsTT | (100 - 105)

100.

101.

102.

103.

104.

105.

106.

7Y fhet ot R vl & siferem 9,

SIS o foTe gHRY oelt =t o7 off |

ARG Al A HTON | ki SISt ghTe o,

IR TR 3T IR BA § TH T I Foha,

THHI 3TH | TS i Aifd A of |
g STYAT TS U, 379 T |
T el sTel o YRIG] o afereH 9|

‘gt o wf-faese ®

(1) &+ EH (2) T+ fyEE (3) =+ fyEe (4) @+ AfEE

St H ford ‘B’ &t 91d S T T2

(1) AR S St AT- YO HR0T HA

(2) =YR &9 7H TAM I H 6

(3) Ul = fHeEe w3 &

(4) IR 99 I W EA &

Tl e =1 9 Tl fean e €2

(1) =A9RY & o H&AN =l | (2) =R I e Hifd H |

(3) =R % TE-TE H | (4) = & sfcreE @i

‘Hifa’ vrsg W form g BT WA TR S SeRat § 2

1 = (2) @ @ 4) =%

2 ] TS I HH H Teh el THT oW o1 | I8 916 shifddl o fohd 3791 # gfafsfeq gar g ?
(1) st =et e off | (2) R IER % wfereE H 1

(3) A IS THE o | (4) 7RG R ST TEfEE 9
éﬁﬂﬁ'@?ﬁmﬁ?mz

(1) =gd 9/ o feam @) (2) = 1 fmior fope T

(3) 319 Sftad ot 3Tgha <1 (4) oI Y et At T |
Frefafead § 9 H-91 e a1 i gaEset als 9 TgH % 9k H 98l @l ¢ 2

(1) AT ol IHh 10 63 ik Wi |

(2) SITfoeh TFITOT T AT |
(3) SR & YT o Tegd |
(4) TEIYO T S F SFATE |
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107.

108.

109.

110.

111.

112.

113.

114.

frfafed ae & Ged § SHF-91 H97 T8 T8l © ?
= g1 Torgy T, T, STetre e ik © 2
(1) sTfyeafa 1 g IR arel ot 7 6 |
(2) SeITE! TG A 6 |

(3) VR IR I HIET hl HIES FH F |

(4)

4) ITURON HT A HH F |

Hefl A ki STefush 4 ST fanfei @ wer fof 9 o Wewifedl § ‘WAl IR o AN i ArAdr 9§
Teiferd Ui 991 98, 59 foh - 91 g0 ) Tehd 71 2 Tifafafy = 9% yeR feafen § 2

(1) fafsra gam (2) Hifa® yaTE oTvd

() fraf=a Sifes s (4) TSI el

frafafaa & @ wH-91 meffs T R e & T4 & IR H e T8l © 2
THEE Th HER T o & H T2 <@ ST =1fen sfesh :

(1) TR H IS &iehi 1 &R U3+ Halfeeh Iugad &9 9 2 Tehdl ¥ |

(2) Toranfefi ot oa Tifecy st fafay geR =6t faensti <6 <@= & Hte e =fsu
(3) &I % WY HerAdl & Aisha IRew % 9 § @1 M 18T |

(4) eI SR T TAEh ff TRl § TGy YS HER Rfd Y Hehd ¢ |

frefafed & & SH-a1 Gerd feor U 1eRi 3R eaft & s Heler W o a1 2

(1) wFfemfda 2 wwyawugld (3) =R s (4) fafaaes summ
shimrar 3unTH/ fafy foeneff ot St ) arsafaes gffeafadi § oo g & ger @ § geifud €2
(1) 9 oiiveh fafy (2) hider IUNTH

(3) HHHYUNHS IUNTH 4) v fafu (SER)

FE-T1 U/ fafy Sl 1 9T HY Fe H IR! STIN FESld T (HIGHTT) T G A % foag
TicHTied &l ohidl © 7

(1) g fofy (2) hider 3UNTH

(3) HHHYUHS IUNTH 4) v fafy (SrER)
frafafea & & wFA-91 fagr I =10 R weags sTfyhed &1 & € ?
(1) Tt fagr (2) reI=El fag

(3)  UEdiR fagra 4) o fagr

T qIST=d TU@T gN (@ifchd Q&Tdiell ol I i H Y dod i JTAHIRTT sl FHLT < arel
TR, R IR TR afere Hatfys Iugad aleh o Hy gier fwan s wehdr € 2

(1) M 3Trertieh qfeer o foTu ha-hel i FSEe ik

(2) Tt g8 g9 H Srer fafaferli s 1 e iR eT=aies nifafaferli s e Hih

(3) gea: foemeff & 3= T iR WeRIel W &M Hiwd Fih
(4)

4) fawrg & fafie a9 s=ai % w1 92+ wih

-1 RN T AR 37 L



115.

116.

117.

118.

119.

120.

IS =R it 3T AT = AT H q9 el 31feen o @ § o |

(1) & &= fak gaq T Sl & fowm R 2 g

(2) 9 3TeAE F -t R T €

(3) 3 Tt sl o1 TN N © TR ST wredl T |isha WM A € |

(4) o 7O I H TR Sl IR-aR T R § A1 aR-ar feren 1

et f= w1 T fereneff e g,

“H AU wTH STEATE HI IH ¥ TR Telhal & foau eif<m (WEAd) ®9 @ off Siedt g1
I foeneff s & forg =R W72

(1) TEIE qeuTh 2) UEYm

(3) I W& (4) 9w dfen

el AfSid LA o forg fored fgqoman (amedt) gt =fen ?
(1) Ghdl IR F=ATHE S

2)
(3) T (UE2) veREd AR YiqHH Sl T8dH
(@) femifen iR v sreEem

Teh 7eAIIehT hedl <1 o forenfef=ii o fere fafay yer =t fareror sifenm wmmft e = @ € | frfafaa §
Y HHA-H1 AMGS ATATH & = % oI el 78 o ?

(1) =afta gl fadk st gR oA 1 S e iR fRge Sl I % fou i Teed @ e |
(2) =AfTd AT $H 3T WE o dedl o TAN % T STeRE SR g e =

(3) =afTa qr T S S Sl bl TR o | Giseie SR E S § 9| e <

(4) =t gt eifemEa: T g 9 fAfia @ e T 9 Suas © feE ST 9 See S W |

Tl T i STEATIRT STUT hedl H USH DT Jiord AT =redt T STeal o (ol q&dehi bl =89 Hid 99
frefafed § 4 frg 7o &1 ged 1fus Teergut 9 =nfew ?

(1) o0 3 g Tk A aferek Frdemeres g8 & wam & faw Suge € 2

(2) I A TEIHI & ONEH STH-TH § ? I e o AT & & ?

(3) I Gk el o Afenie faenfofi & wods e R % SAER fawt T €2

(4) T ek AIERI HeT hi USH UISHTdl oh A&d hl HelllHd hid § HEg il ?

Teh 7eATa 3 forenfefai s oun Fewfed & 1ot ereard gfeqentsii & eTeet-sieell o Srad o folt el |
5 T 1 3e¥T A E?

(1) HEUISt o HH i SiT= & DI fTHid BT

(2) ToEqd 9T 1 HAHH HLEM |

(3) S SISrec! ok YANT Rl ST HLEHI |

(4) AR skl faf=a e e

SITcHE: STEehdl 3T Yag
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PART -V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they have
opted for ENGLISH as LANGUAGE-II only.

Read the passage given below and answer the questions that follow. (121-128)

But the Lion went into the forest and found his own supper and no one ever knew what it was, for
he didn’t mention it. And the scarecrow found a tree full of nuts and filled Dorothy’s basket with them,
so that she would not be hungry for a long time. She thought this was very kind and thoughtful of the
scarecrow, but she laughed heartily at the awkward way in which the poor creature picked up the nuts.
His padded hands were so clumsy and the nuts so small that he dropped almost as many as he put in the
basket. But the scarecrow did not mind how long it took him to fill the basket, for it enabled him to keep
away from the fire, as he feared a spark might get into his straw and burn him up. So he kept a good
distance away from the flames, and only came near to cover Dorothy with dry leaves when she lay
down to sleep. These kept her snug and warm and she slept soundly by until morning.

When it was daylight, the girl bathed her face in a little rippling brook and soon after they all
started toward the Emerald city.

This was to be a wonderful day for the travellers. They had hardly been walking an hour when
they saw before them a ditch that lay across the road and divided the forest as far as they could see on
either side.

121. Which one of the following statements is true ?
(1) Nuts mostly grow on bushes.
(2) Scarecrow is not caring.
(3) He knows that the nuts are good for Dorothy.
(4) He shelled the nuts for Dorothy.

122. ‘... she would not be hungry’.

The underlined word is a/an .
(1) Interjection (2) Preposition (3) Adverb (4) Conjunction

123. Which of the following statements is/are true ?
(1) Both (2) and (3).
(2) The Scarecrow was kind-hearted as he filled the basket with nuts.
(3) He helped Dorothy to keep warm at night.
(4) He kept the Lion away from Dorothy.

124. Which one of the following statements is not true ?
(1) Dorothy felt amused at the way Scarecrow gathered the nuts.
(2) Scarecrow was afraid that the Lion might kill him.
(3) Lion could not eat the nuts gathered by the Scarecrow.
(4) He decided to hunt his prey.

125. Study the following statements :

a) Dorothy was obliged to the Scarecrow.

b) The Scarecrow vanquished his hunger with nuts.

c¢) He gathered so many nuts that no one would remain hungry.
1) (a) and (b) are right but (c) is wrong.

2) (a) and (b) are wrong but (c) is right.

3) (b) and (c) are wrong but (a) is right.

(4) (c) and (a) are wrong but (b) is right.
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126. No one ever knew whatitwas.

The underlined is a/an clause.
(1) Adverb (2) Principal (3) Noun (4) Adjective

127. Study the following statements :
(a) The Scarecrow gathered nuts as the tree was full of them.
(b) He feared for his life so he got busy in gathering nuts.
(1) Both (a) and (b) are wrong. (2) (a) is right and (b) is wrong.
(3) (b) is right and (a) is wrong. (4) Both (a) and (b) are right.

128. They kept her snug.

The underlined word nearly means the same as :
(1) sordid (2) dizzy (3) messy (4) cosy

Read the passage given below and answer the questions that follow. (129-135)

Usually the first question I ask a newbie birder is, “What do you think is the most important
physical requisite to be a birder ? Your eyes, your ears, your nose or any other ?”

Most often, the answer is “eyes”, but several do home into what is the most important faculty - at
least, according to me : your ears. Spotting birds in foliage is hard enough, but if you hear them, you
know they are there.

But early the other morning, I realised it went much beyond that. The first bird call I heard as I
left the house for my walk was the madcap ringing laugh of black-rumped flameback, earlier known as
the golden-backed woodpecker. It was a wild, exultant laugh that set the tone and mood for the entire
day. And then I realised that every bird call evokes a different reaction, memory or emotion in the
listener.

Indian mynas, for example, invariably remind me of people in Delhi-always ready to argue and
pick a fight, belligerent and in your face. Yet, they taught me not to make sweeping generalisations
because when a pair perch on the window sill in the afternoons, they have meaningful civilised
conversations with each other. There is inquiry, humour and affection in their voices.

129. ‘It was a wild exultant laugh....

The underlined word is a/an .

(1) Adjective (2) Noun (3) Verb (4) Adverb
130. Why should a birder have sharp ears ?

(1) Their shrill shrieking can tell one that they are in danger.

(2) One can easily distinguish their mating calls.

(3)  The birds greet each other with their morning calls.

(4) One can easily locate them from their chirping.

131. Who is a birder ?
(1) one who hunts the birds (2) one who catches the birds
(3) one who watches the birds (4) one who rears the birds

132. Study the following statements :
(a) Different chirpings of birds evoke different emotions in a birder.
(b) Sometimes birds make their nests hidden from public view.

(1) Both (a) and (b) are wrong. (2) (a) is right and (b) is wrong.
(3) (b) is right and (a) is wrong. (4) Both (a) and (b) are right.
133. ‘The first bird call [ heard asIleft the house..”
The underlined is a/an clause.
(1) Adverb (2) Principal (3) Noun (4) Adjective
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134. Study the following statements :
(@) The writer approves of the conduct of Delhi people.
(b) Indian mynas are generally known for their noisy quarrels.
() A myna couple can also be found enjoying themselves.
(1) (a) and (b) are wrong but (c) is right.
(2) (a) and (b) are right but (c) is wrong.
(3) (b) and (c) are right but (a) is wrong.
(4) (a) and (c) are right but (b) is wrong.
135. ‘... belligerent in your face.’
The underlined word nearly means the same as :
(1) different (2) hostile (3) noisy (4) musical
136. The students learn patterns of language by repeating model sentences that the teacher provides.
They memorise set phrases and receive positive reinforcement from their teacher when they perform
the drills correctly. The teacher is using the :
(1) Structural approach (2) Audio-lingual method
(3) Communicative approach (4) Total physical response
137. A good speaking activity is the one during which :
(1) participation by outspoken students is the maximum
(2) teachers explains more
(3) learners listens more
(4) learners talk more
138. If children hear two languages spoken around them, this exposure will :
(1) confuse the children, hindering understanding.
(2) put the children at a disadvantage.
(3) put the children at an advantage.
(4) not make any difference to the children.
139. One of the best way to learn a second language is :
(1) by joining a speaking course for the target language.
(2) Dbeing in a classroom where you can focus on the grammar and receive help from a teacher.
(3) by constant contact with native speakers in their own society.
(4) Dby repeating and practicing the dialogues as done in the audio-lingual method.
140. “Language learning is an intensive process that begins at birth and continues throughtout life.”
Do you agree or disagree with the above statement ?
(1) I partially disagree with the statement.
(2) I agree with this statement.
(3) I disagree with this statement.
(4) 1 partially agree with the statement.
141. Abigchallenge inlearning to read is finding motivation and good children’s literature. To overcome
this challenge :
(1) School authorities must take learners to book fairs to generate motivation and interest in
reading books.
(2) Teachers should motivate them to read a book everyday as homework.
(3) Encourage parents to establish a small library at home.
(4) Provide easily accessible Children’s literature to motivate and generate interest in reading.
P-1 (IRt Are al L



142.

143.

144.

145.

146.

147.

148.

149.

150.

A teacher asked the students of class V to read the story quickly and then put the four pictures in
order. The purpose of this activity is to :

(1) revise the new and difficult vocabulary of the story.

(2) arrange the picture cards.

(3) give them practice to reading for the gist.

(4) give them practice in reading for specific information.

Whole language approach is :

(1) Infers a sound-symbol relationship
(2) Meaning based

(3) Skill based

(4) Blends sounds

Assessment tools and processes at the foundation stage should be designed in a way that :
(1) a teacher may use common single method to assess the achievement of all the learners.
(2) explicit tests and examinations become appropriate for learners.

(3) they become a natural extension of the child’s learning experience.

(4) learner’s progress is described and analysed with that of the overall class performance.

Children’s cognitive development and language :

(1) s closely related to the culture and the community in which children live.

(2) s related to the principle of linking stimulus-response and a process of imitation.
(3) is that an individual is born with a tool to master the language.

(4) development bear no relationship.

This reading has certain learning aims and tasks, learners are supposed to read the text in detail
with concentration and due care, It is called :

(1) Pleasure reading (2) Extensive reading

(3) Intensive reading (4) Guided reading

At the beginning of the lesson, a teacher divided the class into groups and asked them to talk about
an interesting newspaper article that they had just read. This type of speaking activity is for
enhancing :

(1) Active listening. (2) Oral fluency practice.

(3) Controlled oral practice. (4) Guided oral practice.

To assess reading skills at primary level a language teacher should most importantly focus on :
(1) reading with understanding. (2) identifying the letters of alphabet.

(3)  use of punctuation mark. (4) reading at a proper speed.

Learners are memorising grammar rules and vocabulary and large amount of work is done in their
mother tongue. Which method is being used by the teacher into his language class ?

(1) Grammar Translation (2) Direct method

(3) Natural approach (4) Communicative teaching

Along with print books and audio books the books that engage the tactile abilities of young children
should be a part of the classroom because :

(1) these books will not overly burden a teacher.

(2) it brings variety to the class and children love variety.

(8) it gives autonomy to teachers to use different books for assessment.

(4) it makes books more accessible to diverse learners.
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4T -Vv

yer - 11 : =D

TE@qut :  qEel URT-V (WE. 121/ 150 ) & T o S had a+t < Afe 3= umer-11 1 oy fest
AR

FrAfaiaa TNy st Ugwt U T U9l & OEt/Faifieh SUga [aehed aht S8 ST | (121-128)

38 9R Hrgy faanfi 3 =von ot g8 ¥ R 1e S 9Te % SR YA FHSIR 18 Fehdl €1 94 % TeH |
T B o eld TR =T A ot T el &1 = A A -t o fe | R Sifker St € A e g = Hehell
B 9 o 39 9N & 9gd i TR T 1 SRR H o 8 H a9 o geid W g U SEe | §e U |99
o TETe Tl A o Ueh RUE S ot B | 66 el T § T 2050 T 9 o1 Todl o€l Hehe A § 3TH
AT T | 9RA R Hehe THT § FRifeh 71, T, FRTgA iR oy St Ffci o1 at ofiX- ik &°e 2ran smom 1 fak
T Rt ST L AT 2500 TeRHieR Tell g% el TGS W S % Se FE [ H ToRd! § 1 39 fRAR W I
TEFTRI, SEail 3R TMidl bt hilel el I i STEIE! ht TH T TS STl bl I8 T B & 1 3Hh THT hT &
TR TAfER ¥ 1 wataRr famfEt w6 aren § 6 fuser 87 9ret # g fhaindiet ofe 39 Tfier 1 9 < fheiier
fow freetent T B g1 B 1 31+l Serary afedd 1 Sl 7§, 9% X ferer &9 % faw a9 S @i
IR % o= art feurer™ § 9775 TfRR oae S €1 3 Thel SWES H 968 ¥ 319 3R 3k fusie i
THIR IS Bt STt & <1 ) 2 2

121. RIS & STIER 2050 T T 1 T €1 Hehe STHAT T :

(1) iR 8§ 2) o@fe |

(3) wrdH (4) HIE SRS SR
122. TR H fRY Hehe i oA I T T2

(1) vafeo §he  (2) W Hehe (3) USHIR Hehe (4) A Hehe
123. ‘gafeRer’ H Sye ok qa wk €

(1) T+ SR 2) T+ A (3) IR+ TR 4) TR+ AERm

124. 3T ST 1 GHE ST €

(1) 9" ® (2) SeTEg W () il W (4) YT R
125. T < ToRAR <19 SN ki STTETE] T © ¢

1) 96 HS 2) 87 &S (3) 30 HIS (4) 40 HS
126. Afal 1 9 SiX- 4 7 B ST | a9 H W@ifhd TS © ¢

(1) feRwo 2) Tormo (@) fma (4) Toran forermmn

127. ¥R Sl Gl § ST S Bl S @I 8 | SHH FRU T :
(1) TARER % &A% | gig B (2) TARER 1 A faEe
(3) TR @1 IS 9 ferer (4) TR % &% § HHET M
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128. ‘39 TARRR 1 4 91 foraimier fewm fraetent e &1 g1 B 1 are | XEifhd UE ©
(1) greATen fagrem (2) HeAETEH foRmu
(3) afAmETEe foRm (4) TUETER TR

FrAfafea T wt ugwt U T wvHl & Od/waified Suge faehed Rt wEe it | (129-135)

T HOR H 99 39 STl T 1 UMY SR YU SHI 39 HUR 9 Hefyd €, safae g SR qua o seerd ¥ |
0 G TR AR U9 G TH 37T Rl YT Bl S| Akt u1q IR U § efiel iR =g § fob quar o1 %t af &
Tl =Ted 1 3H el hl TR FHA o folt T €1 U9 &g i Wik & o qUF | i | S| <91 H €1 WIS i
SISTR & e 1 SACHT 1 T ot AT § ARHT WA BT SR A S S 3T 2 ! I € IR T I B
SHH ITH! A TR AT ¢ SHY T 1 7T Tl bl |

129. 99 iR gug S St o HE: 3R HI SR F H T ¥

(1) ad, dR () @, de () e, diad (4) e, Tl
130. 39 OR ¥ Fw ot T T

(1) oTerdt (2) Ao (3) U (4) TR
131. RIS & STIER 99 iR qu7

(1) < H S 7 2) < AR

(3) T H %el Y T Wl B (4) < gfea sifqard 7
132. T 3R qug <M g

(1) @R (2) T (3)  oTErE (4) Tenvifash
133. ‘s’ i foaem ©

(1) TG (2) ™ (3) A (4) <Hd
134. I § 3Th & hl :

(1) 9Tl HEAT oIga SO © (2) T4 SRR & oft F TR

(3) T SR w F fau areg § (4) fordt gER & fog Swam # o ek §

135. T A T
(1) =m (2) A (3) T@EA (4) TR

136. formefl steame gr fed T eTreet SreRl Rl SRRt Wl & FfawH (Ted) Hrad €1 3 SRl i ek
od ¥ iR Tl Tk | fedt S W 3T 318 GRT WehRIceh Qe U hid © | 3TeAT9eh gRI 3R fehan

SIw@E?
(1) HCHRHF ST (2) == it fafy
(3) HHYUIHS UM (4) Fa Hfaews gfafea
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138.

139.

140.

141.

142.

143.

Teh =31 are (Sern) Tifafafy o § foem -

(1)  tfeehivra: gEfta faenfel=i =i & i W& 1
(2) 3T AR S F T

(3) fomeneft tfess ga 1

(4) Toremeft stferes sT=ia < €1

Ife T4 79 REw § < A1l 1 Se G €, < Jwisit Bl g % ¥ ST
(1) Gugr ¥ 9fgg 3 €| (2) o= I THEH TEAM |
(3) Il I WY TEAM T | (4) I YuE & S

FE off AfFa forges gr1 gatfees Suged a4 fgda o e gehar 2

(1) &7 91 & Rt oo areashn § SifEet e |

(2) T & STRT ST SAHIU T A hiEd F ¢ SR TS H Sl U HL ¢ |
(3) A9 THIS H HEIT ekl (FETHS Sl aell) o Hdd T¥ieh o HIEH 9 |

(4) g7 Wi fafy & STTER FaRl ol SE SiR ST rg LT |

“ T STfET U e FiHAT & S 5 % GHT @ Y& gl & 3R e g7 Fert &1
FI A9 39 FUH W TEHT AT 3T © 2

(1) ¥ 39w G Tifern €9 Y ST § |
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY : fereaferra ferdell @ saar A ue -

1. The manner in which the different questions are to be answered has been | 1. forr g A fafdrer geal & 3R U o € 33 avfer wdten
explained in the Test Booklet which you should read carefully before actually gﬁﬂ?ﬁ[ # feparm orm g, forY 31y Uea & ¥ ¢ A Uee! e A UG
answering the questions. il

2. Outof the four alternatives for each question, only one circle forthe correct | 2. T U9e & U feU o0 IR fadedl & & J& 3R & fov OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IRIT P T%-2 R &dcT U T B a uﬁ TG eAei/dTel dict Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable I Y| U R AT b B & q1e 37 deeT el o Fhdl
to be changed. 3

3. Thecandidates should ensure that the Answer Sheetis notfolded. Donot | 3 gfiereff g%r?@aa & 5 39 307 U9 ) A1E F 0 Ud W W aﬁ‘%
make any stray marks on the Answer Sheet. Do not write your Roll No. 31 Ryore @ @S| whenelf arua 3W e T
anywhere else except in the specified space in the Answer Sheet. N Samp——

4, I-!andletthe Tes(t Bool:lfet :pd Answerlsgeetté/vm:(lc??das u:‘derbno 4 e Eﬁﬂ?ﬁf 0 3R T B WEK“L‘E T B, s et ot
circumstances (except for discrepancy in Test Booklet Code or Number 55 : 3 5 . . .
and Answer Sheet Code or Number), another set will be provided. o 3 ( wde w mf—ﬁ P12 . air

festa @t ffd @1 Bigde) gl TEaT YRadl 3ucte ol Bt

5. The candidates will write the correct Test Booklet Code and Number as et

iven in the Test Booklet/Answer Sheet in the Attendance Sheet. , .
g 5. TleT YRsI/3ER U & U U wdlen gRde @is @ FA Bl

6. A machine will read the coded information in the OMR Answer Sheet. yHenelt T& 9% I uRafy-uw #

Hence, noinformation should be leftincomplete and it should not be different : R 5 -
from the information given in the Admit Card. 6. OMR 37 T & - I T mﬂa | e aﬁé
oft g siedt 7 BS SR TE YAU-u & & g g A faredt T

7. Candidates are not allowed to carry any textual material, printed or written, el TR
bits of papers, pager, mobile phone, electronic device or any other material o .
except the Admit Card inside the examination hall/room. 7. wdtenelf gr wdem 'E»'IFT/EE;%\T ﬁ TAA-T & %’dWN wﬁmﬁ TR B

. . o . o UIe-A1#N, Fied A SAARed, BT B U], Uer, Adrgd

8. Mobile phones, wireless communication devices (even in switched off FE sﬁ’c@ﬁ%{cﬁ Jueoer o R5oft 31 B 3 T @ o o A
mode) and the other banned items should not be brought in the examination f’ 3 @ 3 ey
halls/rooms. Failing to comply with this instruction, it will be considered as g ) . . )
using unfair means in the examination and action will be taken againstthe | 8. dIaTSel Bid, a?ﬂ? AR gﬁﬂ?ﬂ (R 3T 3razer & o) 3k 3=
candidate including cancellation of examination. yfoafed axqu Tten eicmer & 8 oTg ool aifeu | 3 Jgel H

9. Each candidate must show on demand histher Admit Card to the Invigilator. T of &l W @ e & 3@%‘3 el BT T A1 SO 3

10. N didate, without special ission of the Centre Superintendent el @ , T % o |

. No candidate, without special permission of the Centre Superintendent or ; T
Invigilator, should leave his/her seat. 9. 933 EER u'ﬁaﬂaﬁ, fordteres @I 31Ual gaer-u !
. - . , 10. siefters o1 ferdteras ot faoiw srgqafa & foem &g wotemeft

11. The candidates should notleave the Examination Hall/Room without handing iﬁ ¢ B | ¢ & g ¢
over their Answer Sheet to the Invigilator on duty and sign the Attendance el eTel o SIS )

Sheet twice. Cases where candidate has not signed the Attendance Sheet | 11. & 33 fordieres &1 3T 3a¥ U7 ieu faen va uRefe-ua W gdR
second time will be deemed not to have handed over the Answer Sheet and gxrery fopu faem utemelt wdten alc/mer @ w1 afe feedt
dealt with as an unfair means case. The candidates are also required to Terelt o a(:m“r IR JuRefa-usr W gxder 98 fu, @ I8 AN
put their left hand THUMB impression in the space provided in the SO R 39 3T U o ailery § 3R g 3@1%‘3 Jled BT
Attendance Sheet. HIHCT e ST | Tl 3rae Ty arer 3 3oy ot ferermer sufarfar-

12. Use of Electronic/Manual Calculator is prohibited. 5 & U 910 9 TR 319 v |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiierb/gaaalicia URGed &l 3uair afefd &1
Body with regard to their conduct in the Examination Hall/Room. Allcases | 43, udflerr &far/mer & 3maewr & fop adtemelf uderor wwem & woft
of unfair means will be dealt with as per Rules and Regulations of the forralt vg Rferret grr R ¥ 3@%‘?[ et ¥ T A B
Examining Body. el T e & et v R & areEw

14. Np part of the Test Booklet and Answer Sheet shall be detached under any 14, T5adY oft oNNafy & wden Eﬁa-ﬂ 3 T T F Elﬁ'sf HTOT 37T
circumstances. .

il

15. On completion of the test, the candidate must hand over the Answer 15. Tt T Bl R, THemeff ard/pel Eﬂg?r A qgf I 73 erdlere
Sheet to the Invigilator in the Hall / Room. The candidates are P s AT | gdemel 399 T 57 7 gﬁ?ﬂ:‘l o & o7 TB
allowed to take away this Test Booklet with them. ¥
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